K0931

3/MIE olo|X]|

Mo
=o

=25

<
i
gou| A
T ot
5l < 1
HE o

K|l E

- info@kipp.com 1/2

www.kipp.com

© HEINRICH KIPP WERK GmbH & Co. KG



)
EH &2 Ol—- = © =HagHit
AN EEIIU=ECIREU=
=M
H K
| 1
| L ¥
© ﬁfﬂ
A -
N m 1 o | |®
| = |
- |
T
R
A
D E
yan T
Js FEDYDIOH-H+ =«
S S L
~ 11
F
S
Z= 29
XY EEIL U= Sl S
FEHS A B CDEFG H J K L M N P R S T F=2 2 Z/Z(N) THEF
Nm
K0931.02508 62 22 40 14 20314 3 2532 12 14 85 5 14 755 M8x20  M4x8 6000 15
K0931.03210 78 25 50 18 254 18 3,7 32-40 16 17,5 11 7 17,5 95 M10x25 M5x10 10000 30
K0931.04012 93 32 60 21 30521 4,5 4048 20 20 13 8 21 113 M12x30 M6x12 17000 65
K0931.04816 124 38 80 28 40627 6 4863 25 26 17 10 28 151 M16x40 M8x16 25000 130

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



